e F 8L AL

oo
rlo

5
© n({e}) =0
@ n({2}) =2
® n({ ] v 691 F5}) =6
@n €T x}:
({z | oE 2 <z <30 AAF}) =1

® n
({1, 3, 5}) —n({3}) =2



Oa 5 7 Aol Az 22 227

ro

D A= {z|z 49] ¥i5},
B ={4, 8, 12, 16, 20}
@ A=11, 3,6, 4,2, 9, 12},
B={1, 2, 3, 4, 6}
® A= {z|z+= 59 i},
B = {5, 10, 15, 20---}
@ A={o},
B=go
® A= {z|z= 29 Hi},
B = {z|z= 49] "4}



i)
]
N
rr

[\
=
~

D1¢A

2,3,5 7249

@ 2eA

227 I, b5 T &9 AS BF AEH? (

®6¢A



4. A AF A= {z|2¥E 20 °l5t9] 49| ¥4}, B = {a, {a, b}, {a, b, D}}, C =
{2, {0, 2}} € W, n(A) — n(B) - n(C) & Fst4?



A

ot

<2
25

o
Mo
o

% B 1297 (35 27)

O n({2}) <n({3})

@ A={1, 2, 3}, B={1, 2} °|H n(A4) —n(B) =3 °o|t}.
® n(A)=00°" A= ot}

@ n({50}) — n ({40}) = 10

® A={z|2E89 %}, B={r|ase 92t & &5} o n(4) =
n(B) o]t}



6. A AR A= {z|2t 129 %), B={z| 2t 280 A2 5}, C = {z |
i 12xx = 15 W&ok A} ofl tiske] n(4)+n (B)+n (C) & Tt 2t

ro



e FoI4 WA A

o
ko
4
=
ru
pou)
o

SEER ECR

© 7V AL A% 7Yl

© 18T AT 28T 2L 2450 1o
© 5090 717he 4-0] =Yl

© §ET FT A5 2y

ON@) @ 0,0 ®0,6,06
® 0,006, ®0,0,6, 6,0



A B7VA={z|z=3xn},B={z|z=3xn+1}

=kl

n o] A4

ol
™
g

olie
Nfo

ojn

oM

@ 3¢A ® 4¢B @ 7¢B ® 8¢ B

D1e4



A B7FA={z|z=2xn},B={z]|z=2xn+1}

=kl

n °] Zpdgrol il

@ 4ecA ®7¢A @ 8¢ A ® 7€B

D 1¢B



olJ
o8
olig
Xjo

oln

ol

=

oy

ol

olJ
K

@ 2€A,2¢€B ® 4€A, 4¢B

D 1€A 1€B

®7¢A 11¢B

@ 4€A 6B



a

5014 10 7]
(8= 27H)

11.

@7¢A ®85¢A4 @9cA ® 10eA

D5¢A



olp

ol

™~

o
__OH_

1

10 Ho} 230 20 Brf 242 2A FollA 4 9] v

12.

o|J
S
o}J
ol
Nfo

@ 14e€A ® 16¢ A @ 18¢ A ® 20e€ A

D 10e4



o|J
S
ol

ofg

@7¢A ®9cA @ 2cA ®4cA

D3¢A



14. the F 10 Bk 22 3 o] wi4o] P Aartanon v e 20

@ {1, 3, 6} @ {2, 3, 6} @ {3, 6, 9}
@ {1, 2, 3, 6} ® {3, 6, 9, 12}



AL

15. e =4

b

ol g % 4l

rr

2
e

@ {3,6,9, 12, --- }

@ 3= Ao 7Y

® {z |zt zx0=0& HZFol= AAF)
@ 717} vEo 3 AFEE] 2

® vmot Z¢ 540 @9l



